## STAT 712 hw 1

Set theory, probability axioms, counting

Do problems 1.2, 1.3, 1.8, 1.10, 1.11, 1.12, 1.13, 1.14, 1.18, 1.19, 1.23 from CB. In addition:

1. For a collection of sets  $A_1, \ldots, A_n, n \ge 2$ , we have

$$P(\bigcup_{i=1}^{n} A_{i}) = \sum_{i=1}^{n} P(A_{i}) - \sum_{1 \le i_{1} < i_{2} \le n} P(A_{i_{1}} \cap A_{i_{2}}) + \sum_{1 \le i_{1} < i_{2} < i_{3} \le n} P(A_{i_{1}} \cap A_{i_{2}} \cap A_{i_{3}}) - \dots + (-1)^{n+1} P(\bigcap_{i=1}^{n} A_{i}).$$

This is known as the *inclusion-exclusion* principle.

(a) Prove this result by induction. That is, prove it for n = 2 and then show that if it is true for an arbitrary  $n \ge 2$ , it must be true for n + 1.

We have proven the base case in class:  $P(A_1 \cup A_2) = P(A_1) + P(A_2) - P(A_1 \cap A_2)$ . Now, assuming the formula holds for n, we write

$$P(\bigcup_{i=1}^{n+1}A_i) = P(\bigcup_{i=1}^{n}A_i \cup A_{n+1})$$
  
=  $P(\bigcup_{i=1}^{n}A_i) + P(A_{n+1}) - P((\bigcup_{i=1}^{n}A_i) \cap A_{n+1})$   
=  $P(\bigcup_{i=1}^{n}A_i) + P(A_{n+1}) - P(\bigcup_{i=1}^{n}(A_i \cap A_{n+1})),$ 

using the n = 2 result. Now we apply the inclusion-exclusion formula for an arbitrary n to

the first and the third term of the above. This gives

$$\begin{split} P(\cup_{i=1}^{n+1}A_i) &= \sum_{i=1}^n P(A_i) - \sum_{1 \le i_1 < i_2 \le n} P(A_{i_1} \cap A_{i_2}) + \sum_{1 \le i_1 < i_2 < i_3 \le n} P(A_{i_1} \cap A_{i_2} \cap A_{i_3}) - \dots \\ &+ (-1)^{n+1} P(\cap_{i=1}^n A_i) + P(A_{n+1}) \\ &- \left[\sum_{i=1}^n P(A_i \cap A_{n+1}) - \sum_{1 \le i_1 < i_2 \le n+1} P(A_{i_1} \cap A_{i_2} \cap A_{n+1}) \right. \\ &+ \sum_{1 \le i_1 < i_2 < i_3 \le n} P(A_{i_1} \cap A_{i_2} \cap A_{i_3} \cap A_{n+1}) \\ &+ (-1)^n \sum_{1 \le i_1 < \dots < n} P(A_{i_1} \cap A_{i_2} \cap A_{i_3} \cap A_{n+1}) + (-1)^{n+1} P(\cap_{i=1}^n (A_i \cap A_{n+1})) \right] \\ &= \left[\sum_{i=1}^n P(A_i) + P(A_{n+1})\right] - \left[\sum_{1 \le i_1 < i_2 \le n} P(A_{i_1} \cap A_{i_2}) - \sum_{i=1}^n P(A_i \cap A_{n+1})\right] \\ &+ \left[\sum_{1 \le i_1 < i_2 < i_3 \le n} P(A_{i_1} \cap A_{i_2} \cap A_{i_3}) + \sum_{1 \le i_1 < i_2 \le n+1} P(A_{i_1} \cap A_{i_2} \cap A_{n+1})\right] - \\ &+ \left[(-1)^n \sum_{1 \le i_1 < \dots < n} P(A_{i_1} \cap A_{i_2} \cap A_{i_3}) + \sum_{1 \le i_1 < i_2 \le n+1} P(A_{i_1} \cap A_{i_2} \cap A_{n+1})\right] - \\ &+ \left[(-1)^n \sum_{1 \le i_1 < \dots < n} P(A_{i_1} \cap A_{i_2} \cap A_{i_3}) + \sum_{1 \le i_1 < i_2 \le n+1} P(A_{i_1} \cap A_{i_2} \cap A_{n+1})\right] - \\ &+ \left[(-1)^n \sum_{1 \le i_1 < \dots < n} P(A_{i_1} \cap A_{i_2} \cap A_{i_3}) + \sum_{1 \le i_1 < i_2 \le n+1} P(A_{i_1} \cap A_{i_2} \cap A_{n+1})\right] - \\ &+ \left[(-1)^n \sum_{1 \le i_1 < \dots < n} P(A_{i_1} \cap \dots \cap A_{i_{n-1}} \cap A_{n+1}) + (-1)^{n+1} P(\cap_{i=1}^n A_i)\right] + \\ &+ \left[(-1)^{n+2} P(\cap_{i=1}^{n+1} A_i)\right] + \left((-1)^{n+1} P(\cap_{i=1}^n A_i)\right] + \left((-1)^{n+1} P(\cap_{i=1}^{n+1} A_i)\right) + (-1)^{n+1} P(\cap_{i=1}^n A_i)\right] + \\ &+ \left((-1)^{n+2} P(\cap_{i=1}^{n+1} A_i)\right) + \left((-1)^{n+1} P(\cap_{i=1}^n A_i)\right) + \left((-1)^{n+1} P(\cap_{i=1}^n A_i)\right) + (-1)^{n+1} P(\cap_{i=1}^n A_i)\right) + \\ &+ \left((-1)^{n+1} P(\cap_{i=1}^{n+1} A_i)\right) + (-1)^{n+1} P(\cap_{i=1}^n A_i) + (-1)^{n+1} P(\cap_{i=1}^n A_i)\right) + (-1)^{n+1} P(\cap_{i=1}^n A_i) + (-1)^{n+1} P(\cap_{i=1}^n A_i)\right) + (-1)^{n+1} P(\cap_{i=1}^n A_i)$$

We see that we can match terms as in the sets of square brackets above and simplify. This gives the result:

$$P(\bigcup_{i=1}^{n+1} A_i) = \sum_{i=1}^{n+1} P(A_i) - \sum_{1 \le i_1 < i_2 \le n+1} P(A_{i_1} \cap A_{i_2}) + \sum_{1 \le i_1 < i_2 < i_3 \le n+1} P(A_{i_1} \cap A_{i_2} \cap A_{i_3}) - \dots + (-1)^{n+2} P(\bigcap_{i=1}^{n+1} A_i).$$

- (b) Suppose n guests take n seats around a table at random. Then the host rearranges them according to a seating chart he made before the guests' arrival.
  - i. Find the probability that every guest must move to a different seat. Hint: Let  $A_i$  be the event that guest i sits in his or her assigned seat for i = 1, ..., n.

Letting  $A_i$  be the event that guest *i* sits in his or her assigned seat for i = 1, ..., n, the event that every guest must move to a different seat is the event  $\bigcap_{i=1}^{n} A_i^c$ , which by De Morgan's Laws is the event  $(\bigcup_{i=1}^{n} A_i)^c$ . We can find  $P(\bigcup_{i=1}^{n} A_i)$  using the inclusion-

exclusion principle and subtract this from 1 to get the final answer. Noting that there are n! possible seating arrangements, we have

$$P(A_i) = (n-1)!/n! \quad (\text{Put guest } i \text{ in correct seat; arrange others.})$$

$$P(A_i \cap A_j) = (n-2)!/n! \quad (\text{Put guests } i \text{ and } j \text{ in correct seats; arrange others.})$$

$$\vdots$$

$$P(A_{i_1} \cap \dots \cap A_{i_m}) = (n-m)!/n! \quad (\text{Put guests } i_1, \dots, i_m \text{ in correct seats; arrange others.})$$
So we have

So we have

$$P(\bigcup_{i=1}^{n} A_{i}) = \sum_{i=1}^{n} \frac{(n-1)!}{n!} - \sum_{1 \le i_{1} < i_{2} \le n} \frac{(n-2)!}{n!} + \sum_{1 \le i_{1} < i_{2} < i_{3} \le n} \frac{(n-3)!}{n!} - \dots + (-1)^{n+1} \frac{1}{n!}$$

$$= n \frac{(n-1)!}{n!} - \binom{n}{2} \frac{(n-2)!}{n!} + \binom{n}{3} \frac{(n-3)!}{n!} - \dots + (-1)^{n+1} \frac{1}{n!}$$

$$= 1 - \frac{1}{2!} + \frac{1}{3!} - \dots + (-1)^{n+1} \frac{1}{n!}$$

$$= \sum_{i=1}^{n} (-1)^{i+1} \frac{1}{i!}$$

So the answer is

$$P(\bigcap_{i=1}^{n} A_{i}^{c}) = 1 - \sum_{i=1}^{n} (-1)^{i+1} \frac{1}{i!}.$$

ii. Find the limit of this probability as  $n \to \infty$ .

We find that

$$\lim_{n \to \infty} \sum_{i=1}^{n} (-1)^{i+1} \frac{1}{i!} = 1 - e^{-1}$$

by considering the Taylor expansion of the function  $e^{-x}$  around x = 0. So we have

$$\lim_{n \to \infty} P(\bigcap_{i=1}^{n} A_i^c) = 1 - \lim_{n \to \infty} \sum_{i=1}^{n} (-1)^{i+1} \frac{1}{i!} = e^{-1} = 0.3678794.$$

(c) Two 52-card decks are shuffled and place side-by-side. From each deck a card is drawn and placed face-up. This is repeated 52 times, resulting in 52 pairs of cards drawn. What is the probability that at least one pair is a match?

Letting  $A_i$  be the event that the *i*th pair is a match, we have

$$P(A_i) = \frac{52 \cdot 51! \cdot 51!}{52! \cdot 52!} = \frac{1}{52}$$

$$P(A_i \cap A_j) = \frac{52 \cdot 51 \cdot 50! \cdot 50!}{52! \cdot 52!} = \frac{(52-2)!}{52!}$$

$$P(A_i \cap A_j \cap A_k) = \frac{52 \cdot 51 \cdot 50 \cdot 49! \cdot 49!}{52! \cdot 52!} = \frac{(52-3)!}{52!}$$

$$\vdots$$

$$P(A_{i_1} \cap \dots \cap A_{i_m}) = \frac{(52-m)!}{52!}.$$

To obtain the expression for  $P(A_i)$ , we divide the number of ways in which flip *i* can be a match by the total number of ways in which the cards in the two decks can be arranged. The latter is  $52! \cdot 52!$ . The former is obtained by considering that to arrange for a match on the *i*th flip, we can place any of the 52 cards in position *i* of the deck (52 ways to do this), rearranging the rest of the cards in any way (51!, and then placing the same card of the other deck in position *i* and arranging the rest of the cards in any way (51!, ways to do this). So the numerator is  $52 \cdot 51! \cdot 51!$ .

We obtain the expression for  $P(A_i \cap A_j)$  similarly: There are 52 ways to choose a card to place in position *i* of the first deck and then 51 ways to choose a card to place in position *j* of the first deck. Then there are 50! ways to arrange in rest of the cards. Then after placing the same cards in positions *i* and *j* in the second deck, there are 50! ways to arrange the rest of the cards in the second deck. So the numerator is  $52 \cdot 51 \cdot 50! \cdot 50!$ 

Now, by the inclusion-exclusion principle, we have

$$P(\bigcup_{i=1}^{52} A_i) = \sum_{m=1}^{52} (-1)^{m+1} {\binom{52}{m}} \frac{(52-m)!}{52!}$$
$$= \sum_{m=1}^{52} (-1)^{m+1} \frac{1}{m!}$$
$$= 0.6321206.$$

Problems 1.3, 1.11, 1.12(b), 1.14, 1.13, 1.23 from CB.  

$$\boxed{113} (a) \underbrace{Poolf f}_{AUB} (AUB = 8UA); We have
x \in AUB = > x \in A = x \in B = > x \in BUA,
x \in AUB = > x \in B = > x \in A = > x \in AUB,
x \in BUA = > x \in B = > x \in A = > x \in AUB,
x = 8UA = AUB = 8UA.
$$\underbrace{Poolf f}_{AUB} (AUB, Theoden); We have
x \in AUB = > x \in A = aud x \in B = > x \in BUA,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in BUA = > x \in B = aud x \in A = > x \in AUB,
x \in AU(BUC) = (AUB)UC : We have
x \in AU(BUC) = > x \in A = x \in BUC$$$$

$$\frac{Proof}{roof} \cdot \frac{f}{An(Bnc)} = (4nB)nc: We have
x \in An(Bnc) => x \in A and x \in (Bnc)$$

$$=> x \in A \text{ and } x \in B \text{ and } x \in C$$

$$=> x \in (AnB) \text{ and } x \in C$$

$$=> x \in (AnB) \text{ and } x \in C$$

x. An (Bnc) C (ANB) n C. Also x E (ANB) n C => x E (ANB) and x E C => x E A ad x E B and x E C

$$\Rightarrow x \in A$$
 and  $x \in (B \cap C)$   
 $\Rightarrow x \in A \cap (B \cap C)$ ,

(c) Proof of 
$$(A \cup B)^{2} = A^{2} \cap B^{2}$$
: We have  
 $x \in (A \cup B)^{2} \Rightarrow x \notin A \cup B$   
 $\Rightarrow x \notin A \quad and \quad x \notin B$   
 $\Rightarrow x \in A^{2} \quad and \quad x \in B^{2}$   
 $\Rightarrow x \in A^{2} \quad and \quad x \in B^{2}$ 

 $A = (A \cup B)^{c} = A^{c} \cap B^{c}. Also$   $x \in A^{c} \cap B^{c} = 7 \quad x \in A^{c} \quad ad \quad x \in B^{c}$   $\Rightarrow \quad x \notin A \quad ad \quad x \notin B$   $= 7 \quad x \notin A \cup B$   $= 7 \quad x \in (A \cup B)^{c}.$   $A^{c} \cap B^{c} \subset (A \cup B)^{c}. \quad Therefore$   $(A \cup B)^{c} = A^{c} \cap B^{c}.$ 

 $\frac{P_{nof} \pounds (AnB)^{c} = A^{c} \cup B^{c}}{\pi \in (AnB)^{c}} = X \notin AnB$   $\frac{2}{\pi \in (AnB)^{c}} = \pi \notin AnB$   $\frac{2}{\pi \in A^{c}} = \pi \notin AnB$   $\frac{2}{\pi \in A^{c}} = \pi \notin A^{c} \cup B^{c}$   $\frac{2}{\pi \in A^{c} \cup B^{c}} = X \notin A^{c} \cup B^{c}$   $\frac{2}{\pi \in A^{c} \cup B^{c}} = \pi \notin A^{c} \cup B^{c}$   $\frac{2}{\pi \in A^{c} \cup B^{c}} = \pi \notin AnB$   $\frac{2}{\pi \in (AnB)^{c}},$ 

$$A^{c} \cup B^{c} = ? (A \cap B)^{c}. \quad \text{Therefor}$$
$$(A \cap B)^{c} = A^{c} \cup B^{c}.$$

Here is the proof of the distributive laws too:

Proof of An(Buc) = (ANB) u(Anc): We have  

$$x \in An(Buc) = x \in A$$
 and  $x \in BUC$ .  
 $= x \in A$  and  $x \in B$   
 $x \in A$  and  $x \in B$ .

So 
$$An(Buc) \subset (AnB)u(Anc)$$
. Alto,  
 $\chi \in (AnB)u(Anc) => \chi \in AnB$  or  $\chi \in Anc$   
 $=> \chi \in A$  and  $\chi \in Buc$   
 $=> \chi \in A$  u(Buc),  
 $(AnB)u(Anc) \subset An(Buc)$ .

$$\frac{Post}{R} = \frac{f}{Au(Bnc)} = (\underline{AuB})n(\underline{Auc}): \quad We \quad have
x \in \underline{Au(Bnc)} = 2 \quad x \in \underline{A} \quad or \quad \pi \in \underline{Bnc}$$

$$\Rightarrow \quad x \in \underline{AuB} \quad ad \quad x \in \underline{Auc}$$

$$= 2 \quad x \in (\underline{AuB})n(\underline{Auc}),$$

$$so \quad \underline{Au(Bnc)} \subset (\underline{AuB})n(\underline{Auc}). \quad \underline{Also}$$

$$x \in (\underline{AuB})n(\underline{Auc}) = 2 \quad x \in \underline{A} \quad or \quad x \in \underline{Bnc}$$

to (AUB) n (AUC) C AU (BNC). Therefore

## Au (Bnc) = (AUB) n (Auc).

$$\boxed{1.11} \quad \text{Let } S \quad \text{be a sample space.}$$

$$(A) \quad \text{Show that } (B = \frac{5}{2} \emptyset, S \frac{1}{2} \text{ is a size--dydre.}$$

$$Pecall: (B : is a \sigma - alyden : f$$

$$1. \quad \emptyset \in \mathbb{G}$$

$$2. \quad A \in \mathbb{G} := 3 \quad A^{+} \in \mathbb{G}$$

$$3. \quad A_{11}A_{21} \dots \in \mathbb{G} := \stackrel{\circ}{\mathcal{O}} A_{11} \in \mathbb{G}.$$

$$Ve \quad \text{hom}$$

$$1. \quad \emptyset \in \mathbb{G},$$

$$2. \quad \emptyset^{-} : S \in \mathbb{G}, \quad S^{+} := \emptyset \in \mathbb{G}, \text{ and}$$

$$3. \quad \emptyset \cup S := S \in \mathbb{G},$$

$$So \quad (B : is a \sigma - algebra.)$$

$$(b) \quad \text{Let } \quad B := \frac{5}{2} \text{ ell subset of } S : \text{including } S : \text{feelf}^{+}$$

$$Ve \quad \text{hom} \quad 2. \quad \emptyset \in \mathbb{G}.$$

$$2. \quad \text{For } A \in \mathbb{G}, \quad A : c S, \quad S : \quad A^{-} \in \mathbb{G}.$$

$$3. \quad \text{For } A \in \mathbb{G}, \quad A : c S, \quad S : \quad A^{-} \in \mathbb{G}.$$

$$3. \quad \text{For } A : B, \quad A : c S, \quad S : \quad A^{-} \in \mathbb{G}.$$

$$3. \quad \text{For } A : B, \quad A : c S, \quad S : \quad A^{-} \in \mathbb{G}.$$

$$\mathcal{B}_{n}$$
  $\mathcal{B}_{n}$   $\mathcal{B}_{n}$ 

$$P(B) = \prod_{i=1}^{n} P(B_i) + P(P_n) \forall n \ge i$$

by finite additivity. Now if 
$$\lim_{n \to \infty} R_n = 0$$
 then  $\lim_{n \to \infty} P(R_n) = 0$ , so that  
 $P(B) = \lim_{n \to \infty} \left( \sum_{i=1}^n P(B_i) + P(R_n) \right) = \sum_{n=1}^\infty P(B_n)$ 

which is the action of counteble additivity.

$$\lim_{n \to 0} F_n = \bigcap_{n = 1}^{\infty} \bigcup_{k = n}^{\infty} F_k$$

$$= \bigwedge_{n \in I} \mathbb{R}_{n}$$

$$= \bigwedge_{n \in I} \mathbb{R} \setminus \left( \bigcup_{i \in I} \mathbb{R}_{i} \right)$$

$$= \bigwedge_{n \in I} \mathbb{R} \setminus \left( \bigcup_{i \in I} \mathbb{R}_{i} \right)$$

$$= \bigwedge_{n \in I} \mathbb{R} \cap \left( \bigcap_{i \in I} \mathbb{R}_{i}^{\perp} \right)$$

$$= \mathbb{R} \cap \left( \bigwedge_{n \in I} \bigcap_{i \in I} \mathbb{R}_{i}^{\perp} \right)$$

$$= \mathbb{R} \cap \left\{ \bigcup_{n \in I} \bigcap_{i \in I} \mathbb{K} \times \mathbb{K}_{n \in I} \bigcup_{i \in I} \mathbb{K}_{i} \times \mathbb{K}_{i} \right\}$$

$$= \mathbb{R} \cap \left\{ \bigcup_{n \in I} \mathbb{R}_{i} \times \mathbb{K}_{n \in I} \bigcup_{i \in I} \mathbb{K}_{i} \times \mathbb{K}_{i}^{\perp} \right\}$$

$$= \mathbb{R} \cap \left( \bigcap_{n \in I} \mathbb{R}_{i}^{\perp} \right)$$

$$= \mathbb{R} \cap \left( \bigcup_{n \in I} \mathbb{R}_{i} \right)$$

$$= \mathbb{R} \cap \left( \bigcup_{n \in I} \mathbb{R}_{i} \right)$$

$$= \mathbb{R} \cap \left( \bigcup_{n \in I} \mathbb{R}_{i} \right)$$

$$= \mathbb{R} \cap \mathbb{R}_{i}$$

$$= \mathbb{P}.$$

$$\lim_{n \in I} \inf_{n \in I} \mathbb{R}_{n} = \bigcup_{n \in I} \bigcap_{n \in I} \mathbb{R}_{n} = \bigcup_{n \in I} \bigcap_{n \in I} \mathbb{R}_{i} = \varphi.$$

$$\mathbb{R}_{n \in I} \mathbb{R}_{n \in I}$$

$$\lim_{n \in I} \mathbb{R}_{n \in I} \mathbb{R}_{n \in I}$$

$$\lim_{n \in I} \mathbb{R}_{n \in I} \mathbb{R}_{n \in I}$$

$$\lim_{n \in I} \mathbb{R}_{n \in I} \mathbb{R}_{n \in I}$$

$$\lim_{n \in I} \mathbb{R}_{n \in I} \mathbb{R}_{n \in I}$$

$$\lim_{n \in I} \mathbb{R}_{n \in I} \mathbb{R}_{n \in I}$$

$$\lim_{n \in I} \mathbb{R}_{n \in I} \mathbb{R}_{n \in I}$$

It ways to do job  $n \cdot (n-1) \cdot {\binom{n}{2}} (n-2) \cdot \dots \cdot 1 = {\binom{n}{2}} n!$  $P\left(excetty \ 2 \ cell \ empt_{7}\right) = \frac{{\binom{n}{2}} n!}{n^{n}}$